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Duration: 40 minutes 

Answer all questions. 

Section A (10 marks). 

Questions 1 to 5 carry 2 mark each. 
Write your answers in the space provided. 

Calculator allowed 

Marks � 

Section A: /10 

Section B: /15 
) 

Total: /25 

Parent's Signature 

For questions which require units, give your answers in the units stated. 

1. The figure below is made up of triangles of the same size. How many more triangles

5
should be shaded so that 

8 
of the figure is shaded?

2. Find the sum of 1, 2, 3, 4 ...... 198, 199 to 200. 

1 

Ans: 
-----

Ans: 
-----



































ANSWER KEY 

: 2021 

: PRIMARY 5 

YEAR 

LEVEL 

SCHOOL 

SUBJECT 

TERM 

: NAN HUA PRIMARY SCHOOL 

: MATHEMATICS 

: TERM 2 WEIGHTED ASSESSMENT 

SECTION A 

Ql 10:3 

Q2 3:5 

Q3 8:11 

Q4 3:4=27:36 

QS 16units=800ml 

1unit=800ml+16=50ml 

9 units= 50mlx9=450ml 

Q6 300:600:450 

30:60:45 

2:4:3 

Q7 3 units=S+ 7=15 

1 unit=15+3=5 

5 units=15+3=5 

5 units=5x5=25 

25+1=14 'p,,,'/ !. 
QS 11+5=16 

15+5=20 

16:20=4:5 

Q9 True False 

✓ 

✓ 

Q10 a) 7u=588

u=588+7=84

9u=84xx9=756

b) 8u+9u=17u

17u-2u=15u

15u=84x15=1260

Qll 3u=54 

u=54+3=18 

4u=18x4=72 



ANSWER KEY 

: 2021 

: PRIMARY S 

YEAR 

LEVEL 

SCHOOL 

SUBJECT 

TERM 

: NAN HUA PRIMARY SCHOOL 

: MATHEMATICS 

: TERM 3 WEIGHTED ASSESSMENT 

SECTION A 

Ql 5+16=100%=31.25% 

Q2 100%-35%=65% 
65%x$220=$143 

Q3 100%-60%=40% 
40%x1280=512 girls 

Q4 100%+$140 
7%+7%x$140 
=$9.80 

Q5 2.5%x$800=� + io 

SECTION B 

Q6 a) Joelle get 26 marks 

b) Kate could have scored 34 marks 

Q7 35%x5m=1.75m 
1. 75m+5=0.35

The length of the ribbon used to each box is 0.35m
Q8 (i) t/ ,oo io - 2fJ 7• ::. °rJ:, J• &07. �4flo ::. $ bl/. #iO - �2D 

(ii) t �,� '\ 

(iii) (fa1ce.) 
Q9 95+65=160 

160x40%=64 

Q10 a) $45+$20=$65
35%x$65=$22. 75
The discount for the 2 toys is $22. 75

b) $65-$22. 75=$42.25

John paid $42.25 for the 2 toys after 35% discount.

Qll 60%x100cm2=60cm2

600cm2 + 10cm=6cm 

6+6+ 10+ 10=32cm 

The perimeter of the shaded rectangle is 32cm 

: * io <Tr,. ) 


